20,\ O=ng2+51x+-$§

0: [@xﬂj (2x+%) (%@
|

“ 4g 3






L) Y==K lex-2
Y- (_9;4— lox+_—)___—24
Y= -Q(xx—Bx + 167)32 -3
Y= -2 (x—qg + 3







1.7: Completing the Square (Day 2)



1) Solve the equation by completing the square.
Xx2+4x-10=0

(X’} {y+ ,_"_‘L)i-— 1D= O 1) placeholders

()(-[— 2_)"_‘ Jl{ - 2) €55 b2y

3) Factor the trinomial/combine like
m) l’ terms

(+= + J—q 4) Solve by square root method



2) Solve the equation by completing the square.
x2- 18x+86 =0
(Y-18x+ BD)=3(+8L = O
(x—-fﬂlf' & =)
Y= q&ei/s



3) Solve the equation by completing the square.

4x2- 40x-12=0 (1= 4px+ )12

k- 20120 L

s q() Y (¥~ px+ 30— 2=
- IpX =37 4(x-3)-112 = O

ohxers)-25-3=0| 7 [T s g
f&@ e R —chap
X-S =t3| X=5E
¥=StLA




( -~
| Q(#”I)U‘__cr_\ g +HJ0=()
4) Solve. s .
X2+ 9x+20=0 ()(*' >

(et 40 T
S J(/y




5) Solve the equation by completing the square.

3x>+ 7x+17=6x +10 a—'l?( T
5XL+X+7‘= O ’Fa'dp:,-ouu

a
2> " - '7:.:0 :.-_
(38 +x+=—) —* (xﬂ—)—‘] £

3()(11-"‘3;)(‘1“ %‘QJ_‘—_—F—?;O

LN L %3 Y+t:i@
s(¥+ry)+ =0 L
~83 (A






